1. 0000 1000000b000b0on

gobooooodgn

0101000 y=ax+000000
O Os000000DO

20 1000

O g g oo

gooobod

U UaeUD

020z 00000000O00ODO00OOy0OOODOOOO
0 0 OoobD10000

g

0 oU00D0O0O0OO0OODOOOO

godd z0O

O

O

2. 000000000bO0OD

0100 (-3,2)0000000 3000

gogoog

0200 (2, 7)000 0000000

3
030y=-2—-400000 (3,-4)00000

goooo

04020 (—4,-7)0(6,8)00000

goooo

3. 0020 100000000000 0ODO0O
Oz—-2y=6 04x+3y—12=0
(DDDDDDDDDDDDyDDDDDDDDD)

4.20000/0 mODOOODDOOODOOODDODOODODODOO
gooboooon

01000/0mO0O00000O0O0OO

/ m

02000 POOODOODOODOO

030000 10000 100000000 PQOROOO
gooboboogd

0

5.00 AABCUO BC=400CA=300 £C=90°00
00000000 POOD BOOODODOOO CODOOO A
00000000 PO 220000000 AABPODODO
yUOO0OOO0o0oobbbooobobboon A

30
P— ]
B 40 C
Ol0z=200000y00000000O00
0200 yOOODOOOOODODOOOOO
y U
7
6
5)
4
3
2
1
U

O1 2345 6 7 8 910



